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— 0 — (x)  number of stitches
e T s lip sfitch (slst) - endl of
— —o— — - slip stitch (slst) - end of the row
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A L D/ Chain 12 A half double crochet & single
Row 1 = 28 sts crochet fogether (hdc&sctog)
Row 2 = 34 sts 2 single crochet & half double
- Row 3 = 43 sts crochet together (sc&hdctog)
SOLE t double crochet (dc)
Notes :
1. Minor change on the starting point on the first row of sole fo bring position of the boofties shaft left and right side. So, pattern work without cutting of the yam for different parts . double crochef 2 fogether (dc2fog)
of booties. Unless you making different colour for the sole & upper shoes. —  direction
2. Sole and instep crochet in raised rounds and connect/end with slip stitch. Start every row at the same stitch where you joint. And Chain 1 fo raise the row.
3. Shaft part will be work with tuming back and forth.
4. If you see the 2 stitches in the diagram shown in the same stitch mean there are 2 stitches on the same stitch. © zNooi 202 | (CROCHET BASIC BABY BOOTIES)




